District School Board of Pasco County Bid Recommendation

Bid Title	Bathroom Partitions – Maintenance Department	Number of Vendors Notified	385
Bid Number	09-069-LR	Number of Bids Distributed	30
Date Solicited	September 23, 2008	Number of Vendors Bidding	1
Date Opened	November 4, 2008	Number of Formal "No Bid" Responses	0
Date Board Presentation	December 1, 2008	Funding Source	General
Total Savings	\$50,970.70	Grand Total of Bid	\$117,710.00

Recommendation:

Recommend acceptance of bid from Legacy Polymer Products, Inc., as noted on the attached bid tabulation sheet, as lowest and best, responsive and responsible "all-or-none" bid meeting written specifications.

Term of Contract:

This bid is for bathroom partition parts "as needed" by the Maintenance Department for use throughout the District. This is a three-year contract, renewable annually, based upon mutual agreement of both parties. The first year of this contract shall be effective from December 20, 2008 to December 19, 2009.

Notations and Exceptions:

Although it was the only bid received, it is in line with previous bid pricing and is deemed competitive.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Savings were determined by averaging last year's bids with the submitted bid and subtracting the recommended vendor's price.

Bids Evaluated By:

Vinny Minichino, Crew Chief, Maintenance Department

<u>Bids Prepared By</u>:

Chrystal Cahill, Buyer Assistant, Purchasing Department

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: November 4, 2008 @ 2:30pm			Legacy Polymer Products, Inc		
BID TITLE: Bathroom Partitions			PO Box 154		
BID # 09-	3ID # 09-069-LR		Dunmore	Dunmore, PA 18512	
		Board Meeting 12/1/08			
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	
	55" Hiab	Panels - (Includes (1) Plastic CWB) All Colors			
B-1	50 mgn	55" x 55" Panel	\$240.00	\$12,000.00	
D-1	50	Manufacturer/Product #	Legac		
B-2	50	72" x 55" Panel		\$15,000.00	
D-2	50	Manufacturer/Product #		y / PA72	
55" High Doors - (No Accessories) All Colors				y/FA72	
B-3	50	24" x 55" Door	\$110.00	\$5,500.00	
D-3	50	Manufacturer/Product #	Legacy		
B-4	50	32" x 55" Door			
D-4	50	Manufacturer/Product #		\$140.00 \$7,000.00 Legacy / DO32	
B-5	50	36" x 55" Door		\$7,750.00	
D-3	50	Manufacturer/Product #		y / DO36	
	82" High Pilasters - (with shoes)			7 0030	
B-9	20	6" x 82" Pilaster	 	\$1,200.00	
D-9	20	Manufacturer/Product #	Lega		
B-10	50	7" x 82" Pilaster			
D-10	50	Manufacturer/Product #		\$66.00 \$3,300.00 Legacy / PI7	
B-11	50	8" x 82" Pilaster		\$3,600.00	
D-11	50	Manufacturer/Product #		cy / PI8	
B-12	50	9" x 82" Pilaster		\$3,900.00	
D-12	50	Manufacturer/Product #		cy / PI9	
B-13	50	10" x 82" Pilaster			
	50	Manufacturer/Product #		\$84.00 \$4,200.00 Legacy / PI10	
B-14	50	11" x 82" Pilaster		\$4,500.00	
	50	Manufacturer/Product #	Legacy / PI11		
		Leyau	gacy / FIII		

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

		G: November 4, 2008 @ 2:30pm	Legacy Polym	er Products Inc
DATE OF OPENING: November 4, 2008 @ 2:30pm BID TITLE: Bathroom Partitions		Legacy Polymer Products, Inc PO Box 154		
BID # 09-069-LR		Dunmore, PA 18512		
		Board Meeting 12/1/08	Durinore,	17710012
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE
B-15	50	12" x 82" Pilaster	\$96.00	
		Manufacturer/Product #	Legacy / PI12	
B-15A	480	4' x 8' x 1/2" thick HDPE sheet goods, all colors (sq. ft)		\$3,360.00
		Manufacturer/Product #	Legacy / PA48965	
	Vanities (TYP 24" Deep) x (Length) All Colors			
B-16	30	8' Vanity	\$425.00	\$12,750.00
		Manufacturer/Product #	Legacy / C48	
B-17	30	10' Vanity	\$475.00	\$14,250.00
		Manufacturer/Product #	Legacy / C410	
	Components			
B-19	50	Headrail (12")	\$42.00	\$2,100.00
		Manufacturer/Product #	Legacy / H1	
B-20	100	Headrail End Cap	\$1.00 \$100.00	
		Manufacturer/Product #	Legacy / H25	
B-21	50	Set of Hinges (HC) (1 Pair)	\$27.00	\$1,350.00
		Manufacturer/Product #	Legacy / H8	
B-22	150	Single Ear Wall Bracket	\$13.00	\$1,950.00
		Manufacturer/Product #	Legacy / A9PLSE	
B-23	150	Double Ear Wall Bracket	\$13.00	\$1,950.00
		Manufacturer/Product #	Legacy / A9PLDE	
B-24	100	Strike With Ears	\$6.00	\$600.00
		Manufacturer/Product #	Legacy / H6	
B-25	100	Strike without Ears	\$6.00	\$600.00
		Manufacturer/Product #	Legacy / H7	
B-26	150	Handicap Strike	\$6.00	\$900.00
	Manufacturer/Product #		Legacy / H7HC	

DATE OF OPENING: November 4, 2008 @ 2:30pm		Legacy Polymer Products, Inc		
BID TITLE: Bathroom Partitions		PO Box 154		
BID # 09-069-LR		Dunmore, PA 18512		
		Board Meeting 12/1/08		
ITEM# Q1	TY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE
B-27 1	50	Latches	\$6.00	\$900.00
		Manufacturer/Product #	Legacy / H9	
B-28 5	50	Door Pull	\$2.00	\$100.00
		Manufacturer/Product #	Legacy / H4	
B-29 10	00	Headrail Bracket	\$2.50	\$250.00
		Manufacturer/Product #	Legacy / H2	
B-30 25	500	1" Male Sex Bolts w/ Torx Head Driver	\$0.25	\$625.00
		Manufacturer/Product #	Legacy / H23M	
B-31 25	500	1" Female Sex Bolts w/ Torx Head Driver	\$0.25	\$625.00
		Manufacturer/Product #	Legacy / H23F	
B-32 50	000	Plastic Anchors	\$0.10	\$500.00
		Manufacturer/Product #	Legacy / H24	
B-33 25	500	1 1/2" #14 S.S. Screws w/ Torx Head	\$0.25	\$625.00
		Manufacturer/Product #	Legacy / H25	
B-34 25	500	2" #14 S.S. Screws w/ Torx Head	\$0.30	\$750.00
		Manufacturer/Product #	Legacy / H26-2	
B-35 10	00	"L" Brackets 1 1/2 x 1 1/2 x 18" Long Aluminum Angle	\$2.00	\$200.00
		Manufacturer/Product #	Legacy / H30	
B-36 1	50	Coat Hook	\$2.50	\$375.00
		Manufacturer/Product #	Legacy / H15	
B-37 5	50	Wall Stop	\$2.00	\$100.00
Manufacturer/Product #		Manufacturer/Product #	Legacy / H13	
TOTAL ALL-OR-NONE BID PRICE			\$117,710.00	